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Tier 3 words: settlement, Settlement Pattern, Urban, Rural, Hierarchy, Threshold Population, Services, High
order Goods, Low Order Goods, Sphere of Influence, Linear, Dispersed, Nucleated, Central Business District,
Industrial, Residential, Rural - Urban Fringe, Urbanisation, Counter-urbanisation, Suburbanisation, Urban
Regeneration, Megacity, Global City, Hoyt Model, Burgess Model, Urban Sprawl, Brownfield, Greenfield, Greenbelt,
Rural Depopulation, Squatter Settlements / Slums, Infrastructure

Impact of rapid urban growth o i o frtac t mouning ounyari o
Mumbai: development.

e Economic Impact - growth of new CBD's (Belapur

and Bandra urla Complex) and new town s e vk g, Ty o g o b 2

developments and industrial hubs (Navi Mumbai) not favoured by environme:
Social Impact - Dual society created due to high
quality residential neighbourhoods and Dharavi draror vt Ty re e oo o plon e
slums the former use has to be cleared.
Environmental Impacts - Building on the Sanjay
Gandhi National Park, traffic congestion, Issues

with waste disposal

Solutions of rapid urban growth

o Dharavi slum redevelopment - this creates conflict!

e curitiba - Parks, waste disposal initiative at Favela's,
pedestrianised crete of the city, articulated buses,
elevated glass tubes for the bus rapid transport
system
Re-urbanisation to create more homes/space within
the city e.g. London Docklands/Canary wharf and
stratford in London

London:
Suburbanisation and counter-urbanisation to areas
within surrey (e.g. Crawley and Dorking).
Area for commuting and teleworking
Building on the rural-urban fringe can create
conflict with stakeholders
Building on the greenfield site
Creation of the green belt to prevent urban sprawl
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Tier 3 words: Core, mantle, inner core, outer core, convection currents, continental drift, Plate

boundaries, Constructive, Destructive, Conservative, Collision, volcano, earthquake, Composite,
shield, crater, main vent, secondary vent, magma chamber, pyroclastic flow, lahars, hazard, risk,

earthquake, focus, epicentre, seismic waves, tsunami,seismograph, short/long term

effects/response, prepare, predict, protect, management.

_ Movement within the Earth’s mantle caused by the heat of
the core.

The crust is split into plates. Convection currents slowly move these plates around.
In some places the crust is destroyed. In other places new crust is formed.

Convection Currents

Crust— Thin layer between 0-60
km thick. It ‘floats’ on the
mantle.

Mantle— widest section of the
Earth, with a thickness of
2,900km. Made up of liquid rock
called magma.

Outer Core — Liquid layer made of
liquid Iron and Nickel.
Temperatures similar to the
inner core.

Destructive/
convergent

(Earthquake
and voleano)

Constructive/
divergent
(Earthquake
and voleano)

Conservative
(Earthquake)

Volcanic bomb

W

Main chimney __ *Crater

Inner Core — solid, mainly made
of solid iron and nickel, with
temperatures of up to 5,500°C.

Hot Spots - A large plume of magma breaks through the crust. Due
to crust movement a chain of voleanoes are created.

F

Volcanic

Collision
(Earthquake
and fold
mountain)

Secondary cone -&
Inactive volcano
Fumarole

_Cone of the volcano
Ash layer

Soldified lava layer

Lava flow

explosivity Index
Richter Scale
Moment
Magnitude Scale
- Mercalliscale
You also use a
seismograph!
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They are volcanoes with low, with gently sloping sides.

They are formed by eruptions of thin, runny lava (non-viscous lava).
Eruptions tend to be frequent but relatively gentle and cause limited
damage.

More often found at constructive plate margins

Mauna Loa, Hawail

Composite volcanoes are made up of alternating layers of lava and
ash (other voleanoes just consist of lava).

Thick lava (viscous) that builds up over time to create the cone shape.
The eruptions from these tend to be infrequent and violent.

More likely at destructive plate boundaries

pyroclastic flows are more likely

Mount St Helens, USA

Fertile soil
Cost of moving
Attachment to place
Family
Mining and minerals
Geothermal Energy
Tourism
Lack of education about the risk
Make sure you have mini examples / example of Guatemala

Prepare - Make sure that you plan for an earthquake.
What you would do in the event of an earthquake.

predict - Taking measurements to be able to tell when an
earthquake is likely to occur.

Protect - Once the earthquake has accurred or you know
it is about to happen make sure that you have sufficient
supplies and equipment to cope.

Earthquakes

1. Two plates push into each other/or slide past, both plates are under
pressure.

2. The pressure builds up and one plate gives way and the pressure is
released in waves, called Seismic Waves

3. Seismic Waves travel through the Earth in all different directions shaking
everything, this s called an Earthquake.

4. The focus is where the Earthquake started from underground and the
epicentre is the same point but on the surface

A"ﬂ s

“Birdeage! nterlocin teel frame prvrseerr oo

— ok \

Aubber shock-cbsorbers toabsorb
1 earthtremors

steelframes the cn sy duing
earthmovements

Automatic windew shutters to
revent allngglass

e

Gpenareas where peoplecan
cssembeifevacated

e

Foundatins sukintoedrock,
avoidngcly

IEDEREEER]

GIS - a map containing multiple layers. They are

I interactive and a ,person can select specific geographic

data so that they can complete a specific project or
task. Using this you can assess areas which are most at
risk.

Remote Sensing - Using airplanes, satellites and drones to
see if there are changes to planet Earth.

Early warning systems Earthquake - Haiti 2021
Rigk Assessment - Risk is about
the probability of a particular Voleano - Tongo,

event happening and the T H Ho'apai, 2022
scale of its possible damage. onga—Hunga Ha-apal

Once complete you can put in
place the necessary
measures.

Range of hazard management
case studies

Education - Making sure people
know what they should be
doing immediately after the
hazard event. This includes
knowing where fofind shelter
if forced to evacuate their
homes.
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Tier 3 words: Fetch, prevailing wind, swash, backwash, constructive wave, destructive wave,
Hydraulic Action, Abrasion, Solution, Attrition, Saltation, Traction, Suspension, Biological,
Chemical, Mechanical, Mass movement, weathering, erosion, transportation, deposition,
longshore drift, wave cut notch, wave cut platform, stack, stump, bay, headland, beaches,
spits, bars, offshore bars, sand dunes, mangrove forests, coral reefs, polyps, symbiotic
relationship, erosion, biodiversity, benefit, biodiversity, anthropogenic, hard engineering, soft
engineering, sustainable, stakeholders, appropriate, conflict, geology, estuary, sub-aerial

Constructive Wave

Long wave length 50 lowfrequency.
(8-10 waves por minute)

Destructive Wave

Short wave length so high Wave plunges
froquency (10-14 waves per onto steep
Breaking wave DS8Ch, eneray
gainemuch  downwards so
Wave height  height ooy

Coastal Processes:

Erosion = Hydraulic action, Abrasion, Corrosion/solution,
attrition

TIransportation = Saltation, Solution, Traction, Suspension +
Longshore drift

Deposition

Weathering - Biological, Mechanical/physical, Chemical
Mass Movement = Landslides, Soil creep

Coral Reefs:

o Formation: Coral polyps have a symbiotic relationship
with photosynthetic algae which leads to the creation
of caleium carbonate (the essential element of coral
growth)

Opportunities: Fisheries, tourism, coastal protection,
Medicinal advancements

Threats: Tourism, overfishing, Bottom trawling, climate
change, coral bleaching

Landforms of Erosion:

e Headlands and Bays,

e Wave cut notch and platform

e  Cave-Arch-Stack-Stump
Landforms of Deposition:

e Beach,

o spits, Bars, Tombolos

e sandDunes

e Deltas
Make sure you can describe how these landforms are formed
and the coastal processes involved!

Mangrove Forests:
Formation; The only coastal plants that live in
saltwater, in tropical and warm temperate latitudes
Opportunities: Carbon sink, nursery grounds, habitats,
natural resources, limit erosion
Threats: Deforestation and anthropogenic damage
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Theme 2

Coastal management has three main aims:
1. Protecting the coastline from erosion
2. Protecting the coastline from flooding by sea water
3. Conserving fragile ecosystems
Hard Engineering (Constructing a defence along the coastline):
Vertical sea wall
Curved sea wall
Groynes
Breakwater
Gabions
Revetment
Rip-Rap
Engineering (A intervention which is natural and works with coastal processes):
Beach nourishment
Sand dune conservation
Managed Retreat
cliff brainage
cliff Regrading

S

DR S R R

Case Studies
Lyme Regis:
®  Opportunities: UNESCO World Heritage Site, Tourist attractions, Educational value
o Hazards: Erosion due to soft clay rocks and long fetch
o Defences: Beach nourishment, Rip Rap, Curved Sea Wall, Cliff Drainage
The Holderness Coast:
®  Opportunities: Tourism
e Hazards: One of the most rapidly eroding coastlines in Europe due to soft rock geology and high energy environment.
Additional issue of population growth and economic development.
e Defenes: Hornsea - Groynes, Withernsea - Groynes, sea wall, beach nourishment, Spurn Head - Managed Retreat





image10.png
Tier 3 words: Hydrological, precipitation, interception, infiltration, percolation, surface runoff,
groundwater flow, throughflow, drainage basin, tributary, confluence, watershed, source,
mouth, flood hydrograph, river regime, flood, Hydraulic action, abrasion, attrition, solution,
traction, suspension, saltation, erosion, transportation, deposition, weathering, mass
movement, landslide, soil creep, Bradshaw model, long profile, cross profile, rapids, interlocking
spurs, waterfalls, gorge, v-shaped valley, meanders, oxbow lakes, levees, floodplain, delta,
upper course, middle course, lower course, transboundary, alluvium, hard/soft engineering,

Essential Rivens Diagrams/graphs.
I Location of the Earth’s water
2. The hydrological eycle
3. Thedrainage Basin
4. Astorm hydrograph - A graph to show precipitation and discharge levels of
ariver following a storm event.
5. Ariver regime - The yearly discharge of a river (1t can also be a line graph!)

Make sure you:

Know the key stats

2. Know the key words links to the stores, flows and outputs of this cycle

3. Know the key features of the drainage basin eq. Source/mouth

4. candraw aflood hydrograph and analyse its features e.g. subdued or flashy
hydrograph
Ccan analyse a river regime to consider the annual fluctuations in river
discharge e.g. seasonal changes

Ay 130 taing Source

Tova wiiow X jr g EARTH'S WATER

River Regime o the River Severn - Figure 1

(cumess

Upstream

Average Moy Discharge

Longand Cross Profiles.
o Long profile shows changes from source to mouth.
*  The Bradshaw model can be used to theorise downstream changes.
®  Cross profiles show a side view of the river. From upstream to
downstream the cross profile gets wider and deeper.

Hazards and Opportunities of rivers
e Opportunities - Biodiversity, fertile soil due to floods/alluvium, tourism,
Very gontie Industry, Infrastructure due to flat land/floodplains, agriculture
arodient Hazards - Water pollution (Industrial, domestic, agricultural), flooding,
erosion,

Steep gradiont

Gentle gradient
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Fluvial Process Deseription

Erosion The wearing away of sediment and rock.

Transportation The movement of sediment from upstream to
downstream.

Deposition The dropping of the rivers sediment when it
loses energy.

Weathering The breaking down of rock on the rivers valley
sides.

Hydraulic Action The force of the river against the banks can
cause air to be trapped in cracks and
crevices. The pressure weakens the banks
and gradually wears it away.

3

) Abrasion The force of the water in the river carrying

0 stones and other materials grinds the

s bedload like a piece of sandpaper.

I

0 Attrition Rocks being carried by the river smash

N together and break into smaller, smoother
and rounder particles.

Solution/Corrosion | Soluble particles are dissolved by weak acids
in the water.

T Saltation small pebbles and stones are bounced along

[ the river bed

A

1

< Traction Large boulders and rocks are rolled along the

M river bed.

°

A Solution Minerals are dissolved in the water and

; carried along in solution (in the water).

T

1 suspension Fine light material is carried along in the flow

° of the water.

N

W | chemical Chemicals in rainwater making changes to

3 the minerals in a rock.

A

T siological 8reaking down of rocks due to the

: movements of plants and animals

A

1 Mechanical/physical | Physical processes affect the rock, such as

N changes in temperature or when the rock i

@ exposed to the effects of wind, rain and
waves.

Mass Movement The movement of rocks that have been
weathered away on the valley sides down the
slope due to gravity, e.. landslides or soil
creep.

Case Studies:

River Management - The Yangtze River, China
Fluvial Opportunities - The River Nile, Eqypt
Flooding - The Han River, South Korea

Water Quality - The Yangtze River, China

Make sure you have key facts from these case studies that you
can work into your 7 marker answers.

Landforms

There are lots of landforms you need to know about. Diagrams of
aselection are below. Make sure you can:

P - Process of erosion/deposition

K - Knowledge (Upper/middle or lower, specific fluvial processes
involved)

§ - sequence (firstly,.then...finally,..)

N - Named Example

D- Diagram

I waterfall (Upper Course)
2. Oxbow Lakes (Middle/Lower Course)
3. Floodplains and Levees (Middle/Lower Course)

Fuages o nars oo

T cretos rapias

[ e
B |
LI
—
‘ &
e 2

e g ek
A g s tmect oot

Before flood

-,

channel edges
Ouring flood

T

After many floods  Nat
deps

Jlevees buit up from
jon of many floods

Flooding
Causges:

o High levels of precipitation
saturated soils
steep relief
Non porous rocks (Geology)
Low levels of vegetation (lack of interception) /
Deforestation

e circular drainage basin

®  Urbanisation

®  More extreme weather due to climate change
Management
Hard engineering- A technique involving construction and
technology to manage ariver. E. Flood walls, Dams and
reservoirs.
Soft Engineering - A technique involving an environmentally
friendly, solution which works alongside natural processes. £
Afforestation, flood plain zoning.
Make sure you can consider stakeholder conflicts over
management techniques.
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Tier 3 words: Weather, climate, meteorologists, climatologists, biome, latitude, Stevenson Screen,
thermometer, anemometer, rain gauge, wind vane, hygrometer, oktas, weather satellites, isotherr
isohyet, isobar, humidity, cumulonimbus, tropical rainforest, desert, desertification, deforestation,

cumulus, stratus, cirrus, weather satellites

The difference between weather and climate
Weather - Short term changes in the state of the atmosphere.
climate - Averages of weather readings taken over a long period of time, generally 30 years.

Latitude s the key factors causing changes i elimate on a global scale
©  Temperature decreases away from the equator
«  prechitation highest at the equator and at mid-latitudes (low pressure systems)
Latitude and climate also affect biome distribution (map on tight)

Definition Use and Location

teisamechanical | Stand facing the same direction n which the sharp end
device attached to of the weather vane is peinting while holding a compass
an elevated
structure; rotates
freely to show the
direction of the
wind

in one of your hands to determine the direction of the
wind.

Max and Min The thermometer | The thermometer shows a reading at the top of the
Thermometer indicates the mercury section on both the maximum and minimum
current
temperature, and
the highest and
lowest.
temperatures since
last reset.

scales;this shows the current temperature and should
be the same on both scales.

Adevice used to Place away from abstructions and high from the
measure wind ground.

speed. Keep your eye on one of the cups of the
anemometer.

Count how many times the target cup turns in
one minute.

Aepeat tuice and average the three readings to
qet the average revolutions per minute.

ABarometeris Carefully read the air pressure indicated by the needle
used tomeasure air | using the scale. Many barometers today are digital.
pressure. Pressure [ gng e that digital barometers are adjusted to the

‘;m‘j‘;: in altitude at which they are positioned.

AMygrometeris Read the humidity shown on the scale.
used tomeasure
humidity, the
moisture cantent of
the air.

The standard rain | when measurements are taken, the height of the water
gauge consistsof a | in the small graduated cylinder is measured, and the
funnel emptying

intoa graduated
eylinder which
collects rain.

excess overflow i the large container is carefully
poured into another graduated cylinder and measured
togive the total rainfall.

Rainfall
(mm)

JFMAMJJASON

N
Tropico
Cancer
Equator
Tropic of
Capricom

“ars.

“m”’f- 2

Arctic™er

 circls
&0

I Tropical forest
Savanna
Desert

I Chaparral

[ Temperate grassiand
Tomperate broadioa forst
oniferous fores

[ Tundra

I High mountains
| Polar ice

2km (1.2 m)
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Measuring the weather using technology
simple digital instruments

Automated weather stations

Rainfall radar is used by the Met Office to locate the amount of precipitation in the air-This uses a type of pulse-Doppler that can show
where rain is happening as live data.

Weather Satellites - Geostationary satellites stay focused on one spot on the earth and move with the earth’s rotation. They usually
stay over the equator at an altitude of 36,000km.Polar-orbiting satellites will move around the earth from one pole to other at a height
of 850km and will pass the same place every 12 hours.

Weather buoys moored in the ocean

Height Above ground: The any heat from buildings, or any
Stevenson screen should be above: shadows from buildings, the
the ground (at least 1.2 metres) so ‘The screen has a roof so to Stevenson screen should be
thatit does not receive heat protect the instruments placed away from them.

released from the ground. from precipitation. Rain
could affect temperature or

humidity readings.

|

The door of the screen should
always face away from the
sun. This means that in the
The screen is painted white northern hemisphere it

soas to reflect incoming should face north.

solar radiation. It does not
want to absorb heat
because if it does, it will not
give an accurate reading of
the

‘The screen has slats.
toallow air to
circulate freely
around the
trument:

N

Inthe open: The Stevenson screen should not only ‘Grass surface (albedo): To avoid reflection from
beaway from buildings, but also trees, hills, etc. ‘white surfaces or absorption from dark
“This will ensure that air s allowed to circulate and sifcie, Steventai sersen s uailly plasell

that the screen is not in the shade. on grass. Grass has an albedo of 23%.

Presenting weather data
e Isotherms - Lines joining places with the same temperature
e Isobars - Lines joining places with the same pressure
o Isohyets - Lines joining places with the same precipitation

Avarage Temperaturs (°F)
o 5, 2000
‘mean annual precipitation
Value

. High: 4850
Low: 768
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Industrialization, deindustrilisation.

Tier 3 words: Development, Human development Index, GDP, Development gap, LIC, MIC, HIC,
colonialism, Demography, Core/periphery, Global, Aegional, National, Local, Inequalities,
Disparities, Primary/Secondary/Tertiary/Quaternary Industry, Hi-tech industries, Globalisation,
Transnational Corporations, Intergovernmental Organisations, Cultural homogenisation, Trade
blocs, Special Economic Zones, Economies of Scale, Outsourcing, Structural Unemployment,

Development

= A gradual unfolding or growth: evolution. Advancing
through successive stages to  higher, more complex, or
more fully grown state. Oxford English Dictionary.

= The gradual improvement in quality of life.

Development Indicators:

- GDP - The amount of money a country earns in a year

- GNI-The amount of money a country earns in a year +
income from overseas

- Adult Literacy Rates The number of people that can
read or write within the population.

- Life expectancy - The average number of years a
person is expected to live.

- Human development Index - A composite indicator
combining life expectancy, literacy rates and GDP.
Measured from O-1 with | representing a country with
higher levels of development.

There are more - see lesson 1 for examples!

Development varies globally and nationally (see maps
below)

T e cpucany
W,

Causes of underdevelopment:

Physical geography - Location e.qg. landlocked or ona
coastline, Size, Natural Hazards, Climate and sail,
range of plants and animals which can be
domesticated, lack of resources are all physical
geography factors which impact development.
Economy - The economy is strong if there has been
sectoral shifting from the primary to quaternary
industry. To do this the government might put in place
trade blocs or special economic zones.

Demography - If there is an ageing population,
youthful population or overpopulation, this can put
pressure on resources and lead to issues with
development.

Government - Beliefs of a democratic political system
vs oppressive totalitarian government, maintenance
of law and order, lack of corruption, war.

Technology - Certain technology can save time so the
population can receive an education/work. Technology
linked to healthcare and education systems.
colonialism - If a country used to be colonised there
can be traces of neo-colonialism, where unfair
trading relationships still exist between the colonised
and the coloniser.

Health - Issues with endemics, safe drinking water,
poor medical services can be problematic.

Education - Lack of education facilities/teachers and
gender inequalities in accessing school can be
problematic.

Climate change - Increased natural hazards, impact
on crops/food security, conflict over carbon footprint.
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PRIMARY INDUSTRY.
1-£
SECONDARY INDUSTRY.

2-£5
TERTIARY INDUSTRY.
- BB e
gican - QUATERNARY INDUSTRY.
N 4-££EE

Globalisation has accelerated due to:
Improved transportation
Improved communication and technology
Transnational Corporations
Governmental Initiatives
International Organisations

Tertiary Activities

Employment

Secondary Activities

Impacts of globalisation:

Positive - sharing of cultures, cheaper products for
consumers, more choice in products, greater awareness of
global events, increased trade.

Negative - Cultural homogenisation, environmental issues
such as air and water pollution e.g. cities in China, not all
countries experience equal levels of globalisation, unfair
spatial distribution of TNC's: trading relationships develop.

; 7 production oftenin ic's.
- T Impacts of TNC's:
P> nelosedious. Positive - Industrialization is promoted in the country where

_ « primary Industry. production is outsourced to, jobs created, positive multiplier
+ Avelabity o o Mesercis effect, connect countries together, new technologies are
brought into LIC's

R S e e Negative - Deindustrilisation can occur in HIC's leading to
[rlT‘ ——> |+ Disposcbleincome structural unemployment, some TNC's take advantage of

Quaternary Activities

Primary Activities

u = + Tertiry and quaterary industries. LIC's in relation to resources, the environment, TNC's move
. 1 wherever they see a better deal leading to a negative
multiplier effect, tax avoidance, profits return to TNC
headauarters

TNC Case Studies

e CocacCola

®  starbucks
Make sure you look through your notes and have specific facts on one of these
case studies.

Number of Starbucks Stores Globally Outa Diven
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Tier 3 words: Footloose Industries, Rostow model, Primary/Secondary/Tertiary/Quaternary
Industry, Manufacturing, Processing, Hi-tech, Assembly, Inputs, Outputs, Processes, System,
Agglomeration, Science Park, Business Park, Spin offs, Industry Clustering, Tourist, Tourism,
Disposable Income, Positive Multiplier Effect, Sustainable Tourism, Nature Tourism,

Types of Industries. Producing
@ There s the: Primary, secondary, tertiary and quaternary industries. Make sure you know
the difference between them!
Ahigher % of people tend to be involved in the primary industry in LIC's, and the
tertiary/quaternary in HIC's.
Within the secondary industry there are also different types of employment:
Manufacturing, processing, assembly, Hi-tech (see below),

The Industrial System
Anindustrial system has
inputs, processes and
outputs.

There are avariety of
factors that affect the
location of industries.
including:

o closetoraw
materials
Accessbility
Cost of land
Land (flat and
spocious)

Room for expansion
Greenfield vs
Brownfield

power (electrical)
Near a water supply
Solid bedrock

PRIMARY INDUSTRY.
1-£
SECONDARY INDUSTRY.
2-££
TERTIARY INDUSTRY.
3-£££
'QUATERNARY INDUSTRY.

4-££££

Copital —Either
private or s ot

government to set
w

Transport and
Communications
Government policy —
Taxincentives,
cheap rent, SEZ's
close to amarket
skilled Labour

Industry Case Study - Arenburg Science Park:
o Leuven, elgium, i3 hectares
e iotech companies / information and communications technology

access to technology, greenfield site/more space
Next door is IMEC - Largest independent research centre in nanotechnology

development efforts within a larger, established company or organization.

Located here because: Access to workforce, close to university, good transpart links, centre of Europe, HIC o has.

fange of industry spinoffs nearby - new businesses or ventures that are created as a result of research and

Highly skilled lobour
Agood climate Growth of Tourism

Disposable Income

paid holidays

Easier and cheaper to travel

Greater knowledge of travel (sacial media, online)
Easy to book

Ageing populations
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Impacts of Tourism

Use the cartoons for inspo and categorise as social, economic and
environmental.

Tourism Case Study - Ieelond

Tourism has increased in lceland: Increased transport routes eq.
Ieelandair, inereased awareness of the tourist attractions, Golden
Circle tour packages.

Advantages - Economic - Tourism is the major expart eamer in
Ieeland, accounting for ISk 520 billion in 2018 (84 billior) —equivalent
0 39% of total export revenue. The sector directly contributed 8.6%
of 6DPin 2017, and employed some 30,000 people — representing
15.7% of the workforce.

Disadvantages - Overcrowding, air pollution, soil/footpath erosion,
tourism benefits are not equally distributed.

Management - National Infrastructure plan, Tourist Site Protection
Fund

Nature Tourism - Visiting natural environments and enjoying the wildlife and
environment.

Sustainable Tourism - attempt to make a lower impact on the environment and the
local culture, while at the same time helping future employment for local people.

sustainable tourism should:

“ should not be permitted to become an activity which dominates the
economic base of an area (other industries should exist alongside).
Allow the participation of local communities (no economic leakages)
tovolve indigenous people, women and minority groups to ensure the
equitable distribution of the benefits of tourism.
Respect the culture, the economy and the way o life, the environment and
political structures in the destination area.
£ducate all involved people (stakeholders) about the need to develop more
sustainable forms of tourism.

V2
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Theme 3
Ao)o)C

Tier 3 words: Pastoral, arable, subsistence, commercial, intensive, extensive,
inputs, outputs, processes, farming diversification, Malnutrition,
undernourishment, Chronic hunger, Acute hunger, famine, drought

The agricultural system
o Income from selling output > expenditure on inputs and processes =
PROFIT
Feedback s what is put back into the system, The main two examples
of this are money, from the sale of the outputs, and knowledge,
qained from the whole manufacturing process.

Farming Types
«  Pastoral - Involves keeping livestock such as dairy cattle, beef

cattle and sheep.

Arable - Cultivate crops and are not involved with livestock. The
farm may concentrate on one type of crop or there may be a range.
They also may change over time depending on price fluctuations.
Extensive - A relatively small amount of agricultural produce is
obtained per hectare of land. These farms tend to cover large areas.
Inputs per unit of land are low. E.g. sheep farming in Australia or
wheat farming in the Canadian Prairies.

Intensive - Aelatively small scale and can either be capital intensive
(money invested in soil improvement, machinery etc. so there are
few workers but a high output per hectare) or labour intensive (the
number of farm workers is high so there is a high output per
hectare) e g horticulture or dairy farming.

Subsistence - The majority of the produce is consumed by the
landowner and the farm workers, though a lttle surplus may be sold
‘to buy other living requirements and/or be invested in the farm.
Commercial - Carried outs so the majority of the produce is sold and
the income generated can provide  livelihood for the farm workers
as well as be invested back into the farm.

shifting Cultivation (see image to the right) - Moving crops to
different area to preserve the fertility of the soil.

Physical Inputs

Land: soil; climate; relief;
water; drainage.

Human Inputs

animal feed; skills;
knowledge; electricity

Positive Outputs
milk, meat: eggs; wool;

Negative Outputs

Soil erosion; water poliution
from pesticides; dead animals

STAGES OF SHIFTING CULTIVATION

Food shortages
Know the global distribution of food ingeeurity = The state of having reliable
access to a sufficient quantity of affordable, nutritious food.

Causes of food shortages (Categorise thesel):
overpopulation
climate Change
covIDIS- limiting imports
pests
crop diseases
Drought
Extreme flooding
Damaged storage facilities

o conflict
Use the PPT to research solutions, but make sure you like back to $0G2.

lebe Farm (UK
Arable farming, 127 hectares,
®  Inputs: Workers, technology (tractors, harvester), sandy sof,
fertilisers, pesticides, rainfall, drainage systems
®  Processes: Preparation, sowing, harvesting ploughing, rest
®  Outputs: Crops, profit, predominantly wheat
Mythe Farm (UK):
o Example of diversification
.o B
®  Group activities such as archery
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Food shortages in Madagascar
o physical cause of food shortages - Lack of precipitation in the
southand semi arid climate/mansoon.
Human cause of food shortages - LEDC with a GDP per capita of
of just $465. 80% of its population is employed in agriculture,
forestry and fishing. If there is a period of drought, large
portions of the population are affected.
®  solutions - World Food Programme Initiatives and $DGs
See PP and case study sheet for links.
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Tier 3 words: Energy Mix, Non-Renewables, renewables, Resource, Reserve, Energy
Security, Nuclear, Exploration, Exploitation, biofuels, hydroelectric power, solar, wind,
qgeothermal, Dams, Reservoirs, Desalinisation, aquifers, eutrophication, Supply, dem:

Consumption, Water security, water scarcity

Non Renewables

il Prodyction - 2012 Middle East accounted for over
48% of global proven reserves
0il consumption - Increased consumption
particularly in the Asia Pacific region (33.6% of of
consumption), in contrast to Africa which consume
4% of global oil.
Coal Production - Dominated by the Asia Pacific
region accounting for 67.8% of the global total in
2011
coal Consumption - Consumption led by the Asia
Pacific (63.9%), Europe and Eurasia (13.9%) and North
America (12.6%)
Natural Gas Production - Natural gas production
dominated by the US (20.4% of the global total) and
Russia (17.6%)
Natural Gas Consumption - Global consumption led by
Europe and Eurasia in 2012, North America and Asia
Pacific

Increase in demand due to:
Population Growth

£conomic Growth

Energy Efficiency and availability
Energy Security

Diversification of national energy mix
(Investment in renewables)

o sustainability

Types of Energy
Renewabie Energy. Nonrenewaie
+ Solar - derves energyfom he su g sola panets

+ Wind - derives eneray fom he wind twough iines -canbe  + OF

« Hydro-Electric-Power - darves energy Iuoug ast T fowng

+ Geothermal - derves enay

aatives

- Nudear Fission

ot rock hasting water

g burt or rougn

ucng metrene
Wl - carnes angy o tha rovng bl rough ofshors

The energy mix of a country s aresult of a number of factors:

Physical - The availability of a resource affects consumption eg, ‘dash for gas’ in the North Seain
the990s

public Perception - For example perception of nuclear power after chernobyl disaster in 1986
polities - Countries can control energy supply and paths to other countries eq. Aussia and kraine
Technology - Solar panels effiiency increased from 5% energy conversion to 40% between 1470
and 2008

Economics - Wind power is becoming more competitive with fossil fuels, e. USA = $55 per Muh
Sustainability

climate

Nuclear

©  Long-term, efficient and viable energy
security alternative for many countries who
have become over-reliant on fossil fuels

Heated discussion on the advantages and
disadvantages on nuclear power

©  Nuclear disasters - Chernobyl, Three Mile
Island, Fukushima - T recommend doing
independent revision on these

e Inearly20I5, 30 countries around the world
were operating 443 nuelear reactors for
electricity generation, with 66 new nuclear
plants under construction

e  Nuclear power accounted for approx. 30% of
the world's electricity production today.

e Know the pros and cons of nuclear Energy

siomass (plant material and animal waste) is the oldest source of renewable energy
Aenewable because the energy comes from the sun — process of photosynthesis
siomass can re-grow over a relatively short period of time compared to fossil fuels
When burnt the carbohydrates turn back into CO2 and water and release energy

Solar photovoltaic (PV) cells converts light into electrical energy
The amount of electrieal energy produced depends on the ameunt of light that falls on the PV
material

Solar concentrating power systems use concentrated solar radiation at a high temperature energy
source to produce electrical power and drive chemical reactions

Appropriate technology for areas in the tropics and subtropics with long hours of sunshine where
direct solar radiation s high.

wind turbines, ke aircraft propeller blades, turn in the moving air and power an electric generator
that supplies an electric current.

Wind energy makes a significant contribution to the UK's power supplies, providing 1% of our
electricity in 2015 (34.01TWh) - that's enough electricity to meet the annual needs of more 8 milion
homes.

Tidal - harnessed using a dam built across an estuary that captures the potential energy generated
by the change in height (or head) between high and low tides. As the tide goes in and out, the water
flows through tunnels in the dam. The ebb and flow are used to either turn a water turbine or
compress air through a pipe that then turns a turbine, which generates electricty.

Wave —There are several methods, but in general, the rise and fall of the waves means that air is
forced in and out, turning a turbine which turns an electricity generator.
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Energy Case Studies
o Iceland
o Norway
. UK.
o Europe

Make sure you know plenty of facts about at least
one of these. See case study sheet!

cany

o
V4
.

[

—{ Water Security T

The Importance and Supply of Water
Uses:

©  Domestic - Bathing, showering, lushing toilets, drinking and cooking, washing clothes and
dishes, watering the garden
©  Industrial - Producing a wide range of goods from beer to steel; generating electricity
©  Agricultural - Irrigating crops, providing drinking water for livestock
©  Leisure - Sport fishing on rivers, sailing on lakes and ponds, watering golf courses
Global Demand:
Growth in the global population - between 1990 and 2015 the global population grew from
5.3 billion to 7.4 billion
©  Aisein agricultural productivity requires more water e, Irrigation
o Development and rising standard of iving increases the domestic use of water
®  Ascountries develop they go through industrialization. Factories consume alot of water.
Water Pollution;
Domestic - Water that has been contaminated at home or through systems to manage waste, eg.
sewage systems.
Industrial - where pollution has been caused through factories or collecting material to be used in
industry, e.q. disposal of hazardous waste
Agrieulture - Where fertilisers, pesticides or irrigation has contaminated the water through
seepage, eq. excessive fertiliser use
Other - Elements such as weather playing a role in moving pollutants around.
Management
©  Collection using dams, reservoirs, desalinisation
©  Treatment of water using purification, chlorination, aeration, sedimentation
o Delivery of water using standpipes, boreholes, wells and plastic bottles

Water Security Case Study

Be able to mindmap lots of physical/economic factors
that affect water security (see the above diagram)
be able to develop case study of China.

Breakdown of Water Use in China
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Tier 3 words: Enhanced Greenhouse Gas Effect, Carbon Cycle, Industrial
Revolution, Pollution, SDG, MDG, Circular economy, conservation, natural
resources, fracking

Economic activities cause increased pollution because of:
Industrial Revolution
Increased usage of non-renewable resaurces
Increased standard of living / QoL expectations e.q. Increased vehicle:
ownership,travel
Growing population

High levels of pollution cause:
«  Theenhanced greenhouse gas effect (see diagram below)

«  oisruptions to the carbon eyele (Increase carbon in the atmosphere and
consequent oceans)

Natural Human Enhanced
Greenhouse Effect Greenhouse Effect

Car Poraion)

Y e ek

(UghtPoiiion)  (Noisa Poliuion)  (Tharmal Polition)  (adioactive Polion)

(Water Poution)

Soi Poltution)

Case Studies:

China's environmental damage - Lesson I
Examples of MG/SDG process and sustainability

Examples of promoting the circular economy in different countries
Conservation of natural resaurces: The Arctic and Antarctic

Example of an economic activity creating environmental risks - Fracking

sustainabiity

Fulfilling the needs of the eurrent generation without compromising the
needs of the future generations,

Three pillars of sustainability: Social, Economic and Environmental

The role of the MDGs and $0Gs

circular Economy - An economic system based on the reuse of
materials/products to ensure sustainability.

16 i W 17 55550

='s
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Antarctica - The Antarctic Treaty

Aretic - The Arctic Council - Intergovernmental forum promoting cooperation in
the Arctic

=

ARCTIC COUNCIL

The UsA s developing fracking to improve its eneray security and to ensare it has
nough energy for ts economic activities

e Fracking - A process for extracting oil and natural gas from the ground by
blasting water and chemicals into underground rocks.

©  Energy Security - The ability of a nation to secure sufficent, affordable and
consistent energy supplies for it domesti industrial, transport and
military requirements.

There are pros and cans to this process:
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Tier 3 words: Demography, Natural Increase/Decrease, Carrying Capacity, Fertility rates, Life Expectancy,
crude birth rate, crude death rate, Population Pyramid, Dependency, Dividend, overpopulation, carrying
capacity, underpopulation, aging population, youthful population, Anti-natal policy, Pro-natal policy,
population density, sparsely populated, densely populated, population distribution

Popultionbases:

population at 7.9 billion
Demagraphic Indicators help us to understand the demography of a
country

population growth due to health, education, social provision, cultural
factors, environmental factors

Death rate

“The number of deaths occurring among the population of a given
geographical area during a glven year per 1,000

!\T)‘,‘I‘:Kﬁ“ﬁﬂm wome en will have during her

overpopuatin-Sangldesh

‘Cause: Development, lack of education, early marriage, polygamy, lack
of family planning

Effects: shortage of food, over cultivation of flood plains, traffic
congestion, polluted water supplies, deforestation, high crime rates,
poor hausing conditions

“The number of deaths of children under one year of age
occurring i a given geographical area during a year, per 1,000
live births

undmmmmm

ause: Environmental disadvantage, inaccessibility, indigenous inuits,
oot infrastructure, relies on primary industry
Effects: Labour shortage, services close down, less innovation and
development, difficulties in defending the country, limited exploitation
of resources, need to attract immigration

The diference between the number of persons entering and
leaving a country during the year per 1,000 persons

Nwa- 250

Populationand escroes

Melthusian - The population/resource balance is maintained througha
series of checks e famine

Boserup - Human brain power is the ultimate resource and we will
create the technology needed to ensure food stays in balance with the
population

Neo-Malthusian - Environmental degradation and resource depletion
are not only a result of population growth, but also due to the
technologies and consumption patterns of greater numbers of people.

nmhﬁt Population

Africais the youngest region in the world
Issues: Resources focused on education and healthcare, government
changes means there i little to invest in the economy etc, need to
attract FOI to create jobs, potential for an ageing population in the
future

Solutions: Anti-natal policy, education, increased family planning,
development

3

e e

Raegrpuaton

Japan i the oldest nation in the world
Issues: Healthcare systems under pressure, government budgets and
public pensions under pressure, reallocation of resources, poverty
amangst the elderly, expensive medical care for the elderly
Solutions: Teehnological advancements, improving living standards for
all increase taxation, raise retirement age, encourage immigration

‘Anti-natal policy - China

Aim: Limit the number of births

eolicy: Later, longer, fewer in the early 1970's, One child policy, 1973
(given benefits if you only had one child economically and socially)
Success: Fertility rates dropped below replacement level
Unintended consequences: Little emperors, skewed sex ratio, ageing

population, female infaticide

Number of Children (0-15) + Number of Pensioners (> 65 )

Number of Working age 16-65
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o Flowof migrations from
rural to urban areas.

o Numberof forced
migrants has increased
over the years

ood

population density s people move to
escape violence.

Governmental corruption can also lead to
alow population density:

Pro-natal Policy - France FACTORS | SPARSELY POPULATED DENSELY POPULATED
o Ay Increase the birth
rate to prevent an Mountainous areas make it difficult to
ageing population construct buildings and roads. Theyare | Coastal environments and those with rivers provide good
o policy: Code dela often inaccessible and remote. access and allow trading to oceur, encouraging the
- i rowth of economic activities.
ranile 131 o e it s clnes s | 4 SF oo i
o e and cold deserts make it difficult to grow | Locations with favourable climates tend to be more
. M::SS reantionof crops and access water. densely populated as food can be produced, and it
Success . provides a more comfortable environment to lve in
an ageing population Regions with dense vegetation cover, such
compared to other as rainforests, provide challenges in Regions where the relief is flat are easier to build on and
countries found in terms of access and the lack of services | develop.
Europe. make human inhabitation very difficult.
P el 4 The availability of natural resources encourages a higher
b Flood plains present the risk of flooding, | population density as these can be processed and used in
Densely populated - NEUSA 5o building on them is often prohibited. industry and manufacturing.
o suitable climate fora
large population Alack of natural resources inan area Aegions that experience no or few natural disasters are
o Mississippi drainage presents significant challenges to more likely to have a lower population density as they are
basin economic development. safer.
. nrs; American settlers If land is infertile humans are unable to Fertile land attracts a higher population density as food
" * eﬁf““ F°[‘“ " grow food leading to a low population can be produced.
®  Major financial centre dene
and port i Areliable water supply encourages a high population
Locations that regularly experience density as water can be used for drinking, washing,
natural hazards can discourage people | transportation and irrigation.
‘@lﬁﬁ:mmﬁﬁmm from settling in the area.
(cold) Regions with little or no economic
e Coveredin permafrost opportunities tend to be sparsely The availability of jobs and economic activities within a
N ;“‘“\ff ‘""“5‘;"““’9 populated as people are unable to secure | region leads to an increase in population density.
o small communities
aregular income,
o Water transportation s 9 Locations with an effective infrastructure, including
limited Locations with little o no infrastructure, | transport, energy, water, and sanitation are usually
Economic | including transport, energy, waterand | densely populated
" ps factors sanitation do not attract significant od ’ i
figration Case: s numbers of people. A good transport infrastructure attracts a hig
Use factual case study notes to population density as people can travel and commute
revise: Poor transport infrastructure provides | easily. It also allows the free movement of goods which
o Forcedpolitical considerable challenges, especially with | leads to the development of industry, providing jobs to
migration - Syria to regards accessbility leading to a low people in the local area.
£urope population density.
«  Intemal migrationin
china
¢ foreed em.‘”’"'“ﬁ":“‘ b social High levels of crime discourage people Low crime rates can encourage people to move to an
migration in Banglades! s from settling inan area,leading toalow | 0 €{Ine PALES n o0 Bae PP €
o Economic migration from acto population density. rea feacing to ahigh poplation censity:
Mexico to the USA
Migration trends: Poor public services, including education
There are key migration trends and health care, iscourage people from
(lesson ) that you need to be Living in an area, leading ta a low ffective public services, including education and health
aware of (see infographic below): i population density. care, attract people leading to a higher population
. C;DC\;)MTE quxts from ::i‘:{‘;:t Civil war and persecution can lead to a low | density:
o

A safe, reliable Government can encourage people toa
country, leading to an increased population density.

Destination

Lee’s model of migration

©  push factors - Make you want to leave the
origin location . War, lack of job.
opportunities.

e pull factors - Make you want to move to the
destination location e.q. Better QoL better
Job opportunities, family connections.

©  Intervening obstacles - Factors that hinder
the migration process e.g. Visa process,
language, cost.
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IMPACT OF MIGRATION

Positive Negative
Origin Country Remittances bring money into the country and help Brain drain - Lots of skilled countries leave the origin
feed families, rescuing them from below the poverty country which means that the country s left without a
line. - money sent from family members who have skilled workforce fo develop the economy
migrated for economic reasons - Improved quality of If peaple migrate ut of the origin country there is
life population decline. If this is extreme there can be
The migrants can get better opporfunities and increase negative multiplier effect in the area, so eventualy
their skill set and can then come back and share their services will close.
skils with the origin population (Reverse brain drain) Birth rate declines because those of child bearing
Feuier people in the country (because they have years/younger demographic migrate more, and os result
migrated) means that there is reduced pressure on Hhey Leave behind an ageing population
services and resources Declining population means that there are not enough
Feuer people means Less environmental damage people to work in the country and this will cause the GDP
o fall
Breaking up of families and communities
Population Left behind become dependent on remitfances
for their personal development
Feuer people Left behind means less agriculfural
production and Less food
Destination Country Economic advantage - migrants provide skiled labour Lack of governance means that Laws are not enforced to

so support he global economy and also pay tfaxes

Both skilled and unskilled Lobour readily available by the
migrants - for some countries fhis flls a labour skill gp
(e.g. not enough teachers in the country, or not enough
peaple working in the primary industry)

Migrants more willing fo do Less appealing work as it
still offers better pay than the origin country

Some migrants wil bring specific skills to the
destination country which can be shared

Migrants sharing their culture and the creation of
multi-cultural society e.g new food, new services, new
Languages shared

1f the destination country has an ageing population, the
migrants can balance out the population structure
(migrants will increase birth rate because they are of
child bearing years)

profect migrant workers from poor working conditions,
exploifation etc.

Hore migrants means increased demand for jobs/uork,
this could lead to increased unemployment rate and
potentially conflict betueen the migrant and destination
population

Cultural tensions and discrimination - Could Lead to the
development of different political parties which view
migration negatively

Difficulties for the migrants fo fit in to this new culture
due to infervening obstacles e.g. language barrier
Pressure on services and resources due fo increased
population e.g. schools, hospitals, food, housing efc.
Political issues befween countries can heavily affect the
migrants e.g. European migration crisis

Increased tensions might increase crime rates
Hovement of infectious diseases and illnesses around
the world due to migrants e.g. COVID





image4.png
Tier 3 words: settlement, Settlement Pattern, Urban, Rural, Hierarchy, Threshold Population, Services, High
order Goods, Low Order Goods, Sphere of Influence, Linear, Dispersed, Nucleated, Central Business District,
Industrial, Residential, Rural - Urban Fringe, Urbanisation, Counter-urbanisation, Suburbanisation, Urban
Regeneration, Megacity, Global City, Hoyt Model, Burgess Model, Urban Sprawl, Brownfield, Greenfield, Greenbelt,
Rural Depopulation, Squatter Settlements / Slums, Infrastructure

Settlement Patterns
e Linear - where the buildings are arranged in a line -
usually along a river or road.
o Nucleated - where the buildings are clustered
around a central point, e.q. & bridge or market

square.

. Dispersed - where the buildings are spread out or
scattered. Dispersed settlements are often found
in remote, sparsely-populated areas.

There are push and pull factors to living in rural areas.
Make sure you can name some. E.g. Urban pull = better job
opportunities.

Settlement Functions
Settlement Sites

Foodsupply ~ Wet-pointsite Defensive site  Route centre
_ t 4 :
“ v - .

suild . . ridging-point
m:t‘er‘;:js shelteredsite  Dry-pointsite ' q's’;fep"‘" mariettoun | settlement rati
o - functions =
e =4 ~ v 2 —
eultural/religious :
They could also be categorised as physical (relief, soil, ~
climate) and human (access, resources, history).
port mwfamnng route centre
Urban Land Use Models
Land Values:
Make sure you can
explain these different
8 models and recognise
z them on maps/pictures
- particularly the c8D!
Hoyt Sector Model Burgess Model:

(B) central Business Distrit (CBD) Key

[ cenval business disrict (CBD)
() zone of Transiton
(©) Residentia fower ciass)

(D) Residentia (midale class)

(E) Residentia upper class)

® rnaustry





